ACT

What physical quantities are conserved in the above collision?

A. Only momentum is conserved

B. Only total mechanical energy is conserved
C. Both are conserved

D. Neither are conserved

CORRECT

Mechanical Energy = Kinetic Energy + Potential E =% m v+ 0

Ki i = Y2 M V2 Kena = Y2 M (V/2)? + %2 m (V/2)? = Yam v?

Elastic Collisions: collisions that conserve mechanical energy
» Inelastic Collisions: collisions that do not conserve mechanical energy

* Completely Inelastic Collisons: objects stick together
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